yt (leading)

1 do
o dy;(leading)

d
dy; (legding) [pb]

[—2.6, —1.65]

[—1.65, —1.1]

[—1.1, —0.55]
[—0.55, 0]

[0.55,1.1]
[1.1,1.65]
[1.65,2.6]

(4.328 4 0.075 £ 0.229) x 102

0.19 = 0.002 £ 0.005
0.299 £ 0.002 =+ 0.006
0.344 £+ 0.003 £ 0.007
0.344 £ 0.003 = 0.007
0.3 = 0.002 = 0.004
0.188 £ 0.002 £ 0.007

(4.542 4 0.071 + 0.274) x 102

0.489 £ 0.009 + 0.046
2.148 = 0.02 4= 0.153
3.378 &= 0.027 = 0.206
3.891 £ 0.031 £ 0.237
3.89 £ 0.032 £ 0.237
3.389 £ 0.028 £ 0.206
2.126 £ 0.02 £ 0.167
0.513 £ 0.008 = 0.045



